MINIMUM DESIGN LOADS: PER 2018 NC RESIDENTIAL
BUILDING CODE /2015 IRC WITH NC AMENDMENTS

SUNROOM CATEGORY Il (PER 2015 IRC R301.2.1.1.1
& AAMA / NPEA / NSA 2100)

DEAD LOADS:

1. ROOF: 15 PSF

2. WALLS: 20 PSF

3. FLOOR: 10 PSF

SNOW LOADS: GROUND SNOW LOAD 20 PSF

ULTIMATE DESIGN WIND SPEED: 115 MPH, 3 SEC. GUSTS

LIVE LOADS:
1. ROOF: 20 PSF
2. FLOOR: 40 PSF

THIS SUNROOM IS NOT TO BE CONDITIONED
OR USED AS A PERMANENT LIVING AREA.

NOTES:

1. ALLVIEW (AAS) SUNROOM; WHITE IN COLOR
2. CONSTRUCT SUNROOM ON NEW DECK

3. NO HEAT BY GDI; ELECTRICAL BY GDI

4. ALL CONCRETE TO BE 3000 PSI MINIMUM

GREAT DAY IMPROVEMENTS, RALEIGH
COATS RESIDENCE

DRAWING #

1

O© 00 NO O b Wb

5. ALL LUMBER TO BE SYP #2 OR BETTER AND PRESSURE TREATED WHERE REQUIRED

6. THIS SUNROOM IS CONSIDERED AS NON-CONDITIONED SPACE, EXEMPT FROM
ENERGY REQUIREMENTS (PER 2015 IRC SECTION N1102.1, NOTE 2)

DESCRIPTION
COVER
ELEVATION "B" WALL
ELEVATION "A" & "C" WALL
DECK PLAN
ELECTRICAL PLAN
FLOOR PLAN
ROOF PLAN
SYSTEM DETAILS
SYSTEM DETAILS

ALLOWABLE SOIL PRESSURE CONSIDERED
(PRESUMPTIVE) = 2000 PSF

NOTE: THIS STRUCTURE HAS BEEN EVALUATED FOR
VERTICAL AND LATERAL LOADS REQUIRED BY THE
2018 NORTH CAROLINA RESIDENTIAL BUILDING CODE.

SQUARE FOOTAGE OF SUNROOM = 168

PATIO

ENCLOSURES

BY GREAT DAY IMPROVEMENTS, LLC

LOCATION
GDI - RALEIGH
951 AVIATION PKWY, SUITE 1000

MORRISVILLE, NC 27560

984-212-8850

EVERETTE COATS
1303 CREEKVIEW LANE

LINDEN, NC 28356

JOB # 20404

REV. A 9/9/21

DATE

9/7/21

ERIC OETJEN, P.E., M. ENG.
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET
FORT THOMAS, KY. 41075
PH. # 859-393-9049

DRAWN

SCALE

1/4" =

PIH

10"

——

SHEET

10F9

THIS DRAWING IS PROPERTY OF GREAT DAY IMPROVEMENTS, LLC., AND DUPLICATION OF THIS DRAWING WITHOUT OUR EXPRESSED WRITTEN CONSENT IS PROHIBITED. ALL RIGHTS RESERVED



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


[

168"

ELEVATION - "B" WALL

|_—3" SUPER FOAM ROOF
TEMPERED GLASS WINDOW(S)
//‘W/ SCREEN(S)
/ Z
60"
TEMPERED GLASS
//_KNEEWALL(S)
24"
30"
“-NEW DECK
|
CONCRETE PIER
FOOTERS

ENCLOSURES

PATIO

N

/ / 7 g 3‘t
74 W 09-09-2021

LOCATION
GDI - RALEIGH
951 AVIATION PKWY, SUITE 1000
MORRISVILLE, NC 27560
984-212-8850

EVERETTE COATS
1303 CREEKVIEW LANE
LINDEN, NC 28356
JOB # 20404

:_U>| REV. A 9/9/21
m

9/7/21

ERIC OETJEN, P.E., M. ENG.

NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET

FORT THOMAS, KY. 41075

PH. # 859-393-9049

DRAWN
PIH

[
SCALE

1/4" = 10
SHEET
20F9

BY GREAT DAY IMPROVEMENTS, LLC

THIS DRAWING IS PROPERTY OF GREAT DAY IMPROVEMENTS, LLC., AND DUPLICATION OF THIS DRAWING WITHOUT OUR EXPRESSED WRITTEN CONSENT IS PROHIBITED. ALL RIGHTS RESERVED



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


60"

3" SUPER FOAM WING(S)

3" SUPER FOAM ROOF

TEMPERED GLASS DOOR(S)
W/ SCREEN(S)

TEMPERED GLASS
DEADLITE(S

24"

TEMPERED GLASS

g 8" {

NEW DECK

=)
/‘

L L[ " KNEEWALLS
\
J\\

CONCRETE PIER
FOOTERS

144"

ELEVATION - "A" WALL
(OPEN DECK & RAILING NOT SHOWN FOR CLARITY)

3" SUPER FOAM ROOF

3" SUPER FOAM WING(S)

ENCLOSURES

PATIO

BY GREAT DAY IMPROVEMENTS, LLC

TEMPERED GLASS WINDOW(S) @

W/ SCREEN(S)\

TEMPERED GLASS

KNEEWALL(S)\

60"

NEW DECK/

LOCATION
GDI - RALEIGH
951 AVIATION PKWY, SUITE 1000
MORRISVILLE, NC 27560
984-212-8850

3" SUPER FOAM

-1

CONCRETE PIER/L-

FOOTERS

144"

ELEVATION - "C" WALL

KNEEWALL(S)

EVERETTE COATS
1303 CREEKVIEW LANE
LINDEN, NC 28356
JOB # 20404

:_U>| REV. A 9/9/21
m

9/7/21

ERIC OETJEN, P.E., M. ENG.

NC. PROFESSIONAL ENGINEER (NC. LIC. #049195)
5 GREENE STREET

FORT THOMAS, KY. 41075

PH. # 859-393-9049

DRAWN
PIH

[
SCALE

1/4" = 10"

SHEET
30F9

THIS DRAWING IS PROPERTY OF GREAT DAY IMPROVEMENTS, LLC., AND DUPLICATION OF THIS DRAWING WITHOUT OUR EXPRESSED WRITTEN CONSENT IS PROHIBITED. ALL RIGHTS RESERVED



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


3 (/)
-
SUBFLOOR » T El
2x10 JOISTS o |
@ 16" CIC DBL. 2x10 RIM JOIST )
g Nl:
7 2|
Pillg —le] E
4 iy
/ h =
SIMPSON LUS210 < o) I
JOIST HANGERS
fr\,__ SIMPSON A24 [« 5 C
6x6 SUPPORT POST /j—N—— BRACKET
(NOTCHED)
2x10 LEDGER BOARD W/ 5/8" THRU BOLTS INTO GRADE
EXISTING STRUCTURE @ 16" C/C STAGGERED 1; I =
g ITRRL Y 3 =
i 4 o4 IS CONCRETE PIER S 3
FOOTER ug o
EXISTING HS |2
ro& |2
. Zz|lo o3|
= ‘ I 16 Olo>Zgl=
== 7 — = L] =
w (=
B ENE
SIMPSON HUC210-2 CONCEALED FLANGE w Sl==z=3|s3
S JOIST HANGERS @ EACH END SCALE: 1/2"=1-0 S228|:
x|z
> Q 3
72" ™~__SIMPSON LUS210 JOIST == 3
HANGERS @ EACH END o =
E
EXISTING DECK E
\ | Rl a
IR B 7]
[ __| \ [ L___\_. 144" a
\ / \ / o
L~ - &S
L 5
Iy L g
™ 2<8 |2
™_DBL. 2x10 RIM JOIST ] E
72 =3 |z
O N (an) ()
ow X |:
2x10 JOISTS @ 16" CIC W= N|E
A Fo>=]a
k. = Bl TR E o |
[ B Clim Al @ o a O |s
\ — ' : wo="713
7 ~L7 ~— = o — =
A 6x6 POST ON 16" DIA. x 12" DEEP CONCRETE s - S
84" | 84" PIER FOOTERS (TOTAL OF 5) ® z
DBL. 2x10 RIM JOIST =
(=]
168" ROOM <
o
ey >
DECK PLAN S 5
SCALE: 1/4"=1'-0" = =
= N g
S S =
S ~
L < S
- : =
/ 7 = 3
/ U ) o ' ' ' 8
/ 7, \\)
// MW 09-09-2021  [DATE s
74 9/7/21 5
o
ERIC OETJEN, P.E., M. ENG, DRAWN &
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195) e (3
=
NOTE: ALL NEW LUMBER TO BE PRESSURE TREATED SOUTHERN YELLOW PINE 5 GREENE STREET AS NOTED =
NI <<
FORT THOMAS, KY. 41075 — g
PH. # 859-393-9049 4OF 2



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


OT1 'SININIAOEdAI AVA LYIHD A

[ 03IAY3SIY SLHOM 1TV "Q3LIGIHOYd SI LNISNOO NILLIMM ISSIHAXI ¥NO LNOHLIM ONIMYHA SIHL 40 NOILYOITdNA ANY “O77 ‘SINIWIAOHAII AVA LYIHD 40 ALYIOHd SI ONIMYHA SIHL

0988-¢1¢-186 yOv0Z # 90r
S3dNSO TONS 09522 ON ‘TTIASIHHON 95692 ON ‘NIANIT 1 | | 5| .
7 °—.—.<m 000} 3LINS ‘AMYd NOILVIAY 156 S I I
A S HOITTVY - 109 ANYT MIIAMTIHO €0€) 1 7z |5 -
w — Ll
2
o
g
o
B
o=z ©
52 5
=4 =
A EE
PHws®
Wwo g
SFrw, .
O = xp ™
rxroOo
wZwwwao
7 | e
=
A <
—
E DI
—
» =<
e 9
o
T
h O
L
—
L
o | |@
5 O
2
&)
— — n;
b =
28 2
T
Al = w
L= g g
— O = s
ol < o x
o= 5o =
SIS B 3 £ =
D E x 2 & o
| = LLl oc | =
<<| O H o [ 0
oYy 5 9 = w
o L ()] [T L (&)
T
(@]
LLl
—
L
—| (o
5B 0o




OT1'SINININOEINI AVA Lv3HO A8 [ G3AY3SIY SIHOIY TIV 'G3LIGIHOYd SI INISNOD NILLIMM A3SSIUdXT ¥NO LNOHLIM ONIMYHA SIHL 40 NOILYOITdNA ANY 071 ‘SINIWIAOUII AYA LYTHD 40 AL¥IdOYd SI ONIMYHA SIHL

0588-Z12-786 -
-STHNSOTONS 0952 ON ‘ITIASIHHON ommwﬁwvwwm%%%z_._ 1 | | 5| .
7 °—.—.<m 000} 3LINS ‘AMYd NOILVIAY 156 S I I
A /S HOITTVY - 109 ANYT MIIAMTIHO €0€) 1%z Lgl.2
:
g
&
o=
zZo 2
= &
=4 <
ui = o
MEW<E
BeEcg
Oy
ESORE

144"

|
168"
FLOOR PLAN

EXISTING



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


OT1 'SININIAOEdAI AVA LYIHD A

[ 03IAY3SIY SLHOM 1TV "Q3LIGIHOYd SI LNISNOO NILLIMM ISSIHAXI ¥NO LNOHLIM ONIMYHA SIHL 40 NOILYOITdNA ANY “O77 ‘SINIWIAOHAII AVA LYIHD 40 ALYIOHd SI ONIMYHA SIHL

180"
ROOF PLAN

156"

.S3HNSOTONI eeTLC V0 p0Y0Z # 80T :
09622 ON ‘FTTIASIHHOW 95692 ON ‘NIANIT 1 | | 5| .
7 °—.—.<m 000} 3LINS ‘AMYd NOILVIAY 156 S I I
N US HOITIVY - 109 INVT MIIANIFHD €0€ L 1.7z L7
i — w
=
I
g
I~
]
o=z ©
a2 s
=Y =
FEFEE
zoE23
GRrES
PHwWwd S
Seurg
oLk =
roogoccx
wZwuwao
=
S 35
& 2 o g
| g s o3
W £ 2 =%
it \
|



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


1/4" DIA. GALV. LAG SCREWS STAGGERED
@ 16" C/C TO PROVIDE MIN. 1 1/2" THREAD
ENGAGEMENT INTO STRUCTURAL FRAMING
(ADD BLOCKING AS REQUIRED)

2" WALL EXPANDER

(2) #8x1/2" TEK SCREWS ATTACHING
GANGING POST, MASTER FRAME, &

#8x1/2" TEK SCREWS @ TOP, BOTTOM,
1/3rd UP & 1/3rd DOWN (INSIDE & OUT)_\

ANCHORING NOTES:
3/8" DIA. ANCHOR BOLTS
31/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"
LONG DEWALT SCREW-
BOLT+ INTO CONCRETE,

ANCHORING NOTES:

AT LEAST 2" FROM EDGE OF
SUPPORTING MATERIAL

MASTER FRAME JAMB 3/8" DIA. ANCHOR BOLTS
(3) #10x3/4" TEK SCREWS PER S1/2'LONG GALV. LAG |
SCREWS INTO WOOD; 3
SIDE ATTACHING BRACKET
T T LONG DEWALT SCREW-
R BOLT+ INTO CONCRETE,
AT LEAST 2' FROM EDGE OF POST CAP SET CENTER OF ANCHORS

)

4

]

ma g

=~

g
FLOOR EXPANDER/

FLOOR EXPANDER (INSIDE & OUT) SET CENTER OF ANCHORS
MASTER FRAME JAMB
SUPPORTIN? MATERIAL MASTER FRAME J AMB\
\ | .
») —
\ @
| \ | m
| NAY | A/
| \— 1 = vi
#8x1/2" TEK SCREWS @ / MASTER FRAME JAMB
TOP, BOTTOM, 1/3rd UP
& 1/3rd DOWN FLOOR EXPANDER FLOOR EXPANDER
AV GANGING POST AV ER. WALL POST

MASTER FRAME JAMB

/1T PLAN VIEW OF MASTER FRAME JAMB

%

AV GANGING POST

/ 2>\ PLAN VIEW OF MASTER FRAME JAMBS

\ | .
\Z#g

h
\AV WALL POST SUPPORT
BRACKET

x1" TEK SCREWS @ TOP, BOTTOM,

1/3rd UP & 1/3rd DOWN.

/73 PLAN VIEW OF MASTER FRAME JAMBS

\_8_/ CONNECTION @ EXISTING

#8x1/2" TEK SCREWS
(2) @ EACH GANGING
(INSIDE & OUT)

WALL

MASTER FRAME SILL

~DECK FOUNDATION

FLOOR EXPANDER
FLASHING

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

~

/5 SECTION THROUGH MASTER FRAME SILL

\.8_/ CONNECTION @ DECK FOUNDATION

\.8_/ CONNECTION @ GANGING POST

TEMPERED GLASS

GLAZING STOP AV 1-LITE FEMALE

#8x1/2" TEK SCREWS
(2) @ EACH GANGING
(INSIDE & OUT)

~DECK FOUNDATION

/
FLOOR EXPANDER
9 /

FLASHING

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

~

2

/8 SECTION THROUGH GLASS KNEEWALL
\.8_/ CONNECTION @ DECK FOUNDATION

\.8_/ CONNECTION @ AV E.R. WALL POST

3" SUPER FOAM KNEEWALL

#8x1/2" TEK SCREWS @
EACH GANGING & SPACED

EQUALLY BETWEEN EACH \

UNIT (INSIDE & OUT)

/
FLOOR EXPANDER
/ /

FLASHING

#10x2" COATED MASTER-GRIP
WOOD SCREWS, STAGGER
SCREWS @ 16" C/C ALONG

FLOOR EXPANDER BETWEEN
UNIT GANGINGS

/7 SECTION THROUGH FOAM KNEEWALL

ANCHORING NOTES:
3/8" DIA. ANCHOR BOLTS
3 1/2" LONG GALV. LAG
SCREWS INTO WOOD; 3"

SET CENTER OF ANCHORS
AT LEAST 2" FROM EDGE OF
SUPPORTING MATERIAL

LONG DEWALT SCREW-
BOLT+ INTO CONCRETE,_\

(6) #10x3/4" TEK SCREWS
PER ANGLE BRACKET ™

/FLOOR EXPANDER
21/2" ANGLE BRACKET

7

MASTER FRAME JAMB

91 2 1/2" ANGLE BRACKET

\.8_/ CONNECTION @ DECK FOUNDATION

|
#8x1" TEK SCREWS @ A
TOP, BOTTOM, 1/3rd——] 3
UP & 1/3rd DOWN : =
e \ g
AV SD CORNER POST FLOOR EXPANDER E o
T N
CORNER POST COVER #8x1/2" TEK SCREWS @ TOP, z|o 2 o3
BOTTOM, 1/3rd UP & 1/3rd DOWN elEz=s
<|s <l
QlIraadd
Slgzas
/4 PLAN VIEW OF MASTER FRAME JAMBS B2z S
\&_/ CONNECTION @ CORNER POST =3
< =
o
D
=
nZE o
=28
LE
~DECK FOUNDATION C=0d
wz e
— ¥
W &5 |
o
7 ~ L o=
uS 3
o
4
= N
. S
D
<C
=
L
o ' ' '
DATE
97121
ERIC OETJEN, P.E., M. ENG. DRAWN
NC. PROFESSIONAL ENGINEER (NC. LIC. #049195) fremmmemmme
5 GREENE STREET 112 = 10"
FORT THOMAS, KY. 41075 — —_—
PH. # 859-393-004
# 859-393-0049 8 OF 9

ENCLOSURES®

PATIO

BY GREAT DAY IMPROVEMENTS, LLC

THIS DRAWING IS PROPERTY OF GREAT DAY IMPROVEMENTS, LLC., AND DUPLICATION OF THIS DRAWING WITHOUT OUR EXPRESSED WRITTEN CONSENT IS PROHIBITED. ALL RIGHTS RESERVED



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


@ v
» ] E
#8x1/2" TEK SCREWS @ 24" C/C 1/ v/ cl¢
TOP & BOTTOM, & @ EACH END S &
in #8x1/2" TEK SCREWS @ ° I75) 5
3" SUPER FOAM EACH END & @ 24" C/C e £
WING PANEL — %
TVIT : #8x2" TEK SCREWS 3" FASCIA JPANEL CAP | h — é
| _~@18"cic ALONG ol:
+ AV "H" SUPPORT Z1:
#8x1/2" TEK SCREWS MASTER FRAME SILL MASTER FRAME SILL - : m ©

@18" C/C\ 4 b Vo ! !

. L1 AV "H" SUPPORT "
:.3‘*% (2) f:xé//f; TIEQSER&E(\;\GST MASTER FRAME HEAD—| ~—6" OVH—= 3" SUPER FOAM ROOF
s AVH' SUPPORT @ ( ) SILICONE SEALANT

AV 1-LITE MALE/ -
~—TEMPERED GLASS ; i #8x1/2" TEK SCREWS @ A
GLAZING STOP 3" SUPER FOAM__—"| EACH END, BOTH SIDES = &
KNEEWALL S @
- YA 3" SUPER FOAM WING L 3 o
I
A X o &
/8> SECTION THROUGH MASTER FRAME SILL / 9"\ SECTION THROUGH MASTER FRAME SILL /10" SECTION THROUGH MASTER FRAME /17 SECTION THROUGH 3" SUPER FOAM ROOF PANEL zla o8|z
\9_/ CONNECTION @ GLASS KNEEWALL \.9_/ CONNECTION @ FOAM KNEEWALL \.9_/ HEAD CONNECTION @ FOAM WING \9_/ CONNECTION @ 3" SUPER FOAM WING PANEL = ﬁ g wole
Slexagle
(@) ' = &
“|adz 3|
= O &
<= 2
EXISTING SHINGLES #8x1/2" TEK SCREWS (2) @ SILICONE SEALANT (EOTH o =
HANGER, (2) @ FASCIA, (2) =
EXISTING SHEATHIN E
STINGS ¢ @ 1/3 POINTS BETWEEN SIDES OF | BEAMS) =
ICE & WATER SHIELD (MIN. 24" ON HANGER & HEADER 2
TO HOUSE ROOF) P 3" SUPER FOAM ROOF 2
o
FLASHING &
3/4" x 3 1/2" (MIN.) SOLID SHIM L 3
SILICONE SEALANT I n <ZE © 3
HANGER TAB — T - g < |Z
SILICONE SEALANT 3" ALUMINUM I-BEAM 8 % =4 E
1/4-20x5" HWH "BLAZER" SD5 TEK SCREWS #8x1/2" TEK SCREWS, (2) INTO L E LZJ 8 %
W/ WASHERS ONE @ EACH CORNER POST #8x1/2' TEK SCREWS (2) |BEAW CONNECTING PANELS \E7 T /18 SECTION THROUGH 3" ROOF E i pis 2
#8x1/2" TEK SCREWS @ EACH GANGING @ SAME SIDE OF I-BEAM » - 9 / CONNECTION @ I-BEAM LUl LU =
AND @ EACH END (INSIDE & OUT) INTO AV HEADER ARM N @ % EC) % Q 2
" > = =
3" SUPER FOAM ROOF 5% SUPER FOAM ROOF EXISTING RAFTERS w S 5
SILICONE SEALANT e 5
3" PANEL HANGER 3
#8x1/2" TEK SCREWS 2
(2) @ EACH I-BEAM 3/8" DIA. GALV. LAG SCREWS @ 16" C/C W/ 2" MIN. ~ =
(TOP & BOTTOM) AV HEADER ARM THREAD ENGAGEMENT INTO EXISTING RAFTERS \ 3
" [22]
#8x1/2" TEK SCREWS (NOTE:MUST HAVE 1 1/2" MIN. EDGE DISTANCE) EXISTING BEARING WALL e e %
(2) @ EACH I-BEAM ' =
3" FASCIA (1) @ EACH END OF NEW 2x10 LEDGER BOARD ATTACHED W/ (2) 3/8" DIA. - s
HEADER SUPPORT GALV. LAG SCREWS @ 16" C/C TO PROVIDE MIN. 2" ~ g
12" OVH (MAX) THREAD ENGAGEMENT INTO EXISTING STRUCTURE > 2
AV HEADER SUPPORT < S
. = 5
#0x2 TEKgﬁE,,EX\/’g MASTER FRAME HEAD AN 2. ].1.1%
U W\ o)
N / / &om mm\\“‘\\ 09-09-2021 |DATE ,2
v 9/7/21 5
[e]
/ 12>\ SECTION THROUGH MASTER FRAME & HEADER /13 SECTION THROUGH 3" SUPER FOAM ROOF & PANEL HANGER EE'CP gg&%&g&“ﬁ@& ER (NG LG #049195 PRAMN oy g
. . . — _
\9_/ CONNECTION @ 3" SUPER FOAM ROOF \9/ ASSEMBLY CONNECTION @ OVERHANG CUT OFF 5 GREENE STREET ( | g %
FORT THOMAS, KY. 41075 LNIPAN GV
PH. # 859-393-9049 SHEET o
9OF 9 z



eoetjen
Draft

eoetjen
Typewritten text
09-09-2021


	RAL Coats #20404 Stamped Rev A.dwg.9.pdf
	RAL Coats #20404 Stamped Rev A.dwg.8.pdf
	RAL Coats #20404 Stamped Rev A.dwg.7.pdf
	RAL Coats #20404 Stamped Rev A.dwg.6.pdf
	RAL Coats #20404 Stamped Rev A.dwg.5.pdf
	RAL Coats #20404 Stamped Rev A.dwg.4.pdf
	RAL Coats #20404 Stamped Rev A.dwg.3.pdf
	RAL Coats #20404 Stamped Rev A.dwg.2.pdf
	RAL Coats #20404 Stamped Rev A.dwg.1.pdf

